
 

KAWASAKI Z 900 (ABS) 
2017–2019 
Part Nr. 649 

 

8300 

M6 x 12  

DIN7991 

M8 x 35 DIN7991 

+ 123201008 

M8 x 30  
DIN7991 

813LB 813RD 

between 872 and 

8300  
123220908 

880 

M8 x 50 DIN6921 

+ 807 

M8 x 60 DIN6921 

+ 807 

M6 x 40 DIN7380 
+ 817 + 123121706 

+ M6 DIN985 
 

 

M6 x 25 DIN7380 
+ 816R + M6 DIN985 

BRAKE HOSE    20°/ 205mm / H650-31+H SHORT, M10x1.00 

818170 

between 880 

and 813RD 

123120308 

between 880 a 813RD 

BD15 with D8 below 

 
M6 DIN985 

M8 x 20 

 DIN7991 

M8 x 20 

 DIN7991 

872 

 BC125 (BRAKE SENSOR M10x1.25) 

8490 819M6L 

810R 


